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General Instructions :

Read the following instructions very carefully and strictly follow them :
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(ii)
(iii)
(iv)

(v)
(vt)
(vii)
(viit)
(ix)
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This question paper contains 34 questions. All questions are compulsory.

This question paper is divided into two parts — Part A and Part B.

Part A is compulsory for all candidates.

Part B has two options i.e. (1) Analysis of Financial Statements, and

(2) Computerised Accounting. Candidates must attempt only one of the given
options as per the subject opted in Part B.

Questions no. 1 to 16 and 27 to 30 carry 1 mark each.
Questions no. 17 to 20, 31 and 32 carry 3 marks each.
Questions no. 21, 22 and 33 carry 4 marks each.
Questions no. 23 to 26 and 34 carry 6 marks each.

There is no overall choice. However, an internal choice has been provided in
7 questions of one mark, 2 questions of three marks, 1 question of four marks
and 2 questions of six marks.

PART A

(Accounting for Partnership Firms and Companies)

Vijay and Ajay are partners in a firm. The partnership agreement
provides for interest on drawings @ 12% per annum. Which of the
following account will be debited to transfer interest on drawings to
Profit and Loss Appropriation A/c ? 1

(a) Interest on Drawings Account
(b) Bank Account
(¢) Partners’ Current Account

(d) Partners’ Capital Account

On dissolution of the firm of Ramesh, Suresh and Naresh, Naresh had
agreed to bear all realisation expenses for which he was paid ¥ 14,500.

Actual expenses on realisation amounted to ¥ 11,000 which were paid by

Naresh. The amount to be credited to Naresh’s capital account will be : 1
(a) ¥ 11,000 (b) ¥ 3,500
(c) T 14,500 (d T 25,500

~~~~ Page 3 P.T.O.
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(i1)

1)

(i1)

~

qAEd fIfiHes 4 T 10 &% % 50,000 FHAT 37901 i THed R Fifaa
g-ﬁﬁ%f\qa‘u&q& mmta fhu | ufa ster Uiy &1 YA e YR 9
g7 .

AT W T 3; M€ W T 4 qAT YW U Afqq I W T 3 |
1,45,000 HFAT 37T % Y &S TH FT | 20,000 3FAT 6 IATeGA
T© L T T Q9T I 2ATAgehl Sl IMUTRAS SATUR X S I 3TTeeA
foram T | 3TEeT W T IAfAfch TS 1 SHRISE 3TEed dAT YW Ud
JAfeaq I W T THRT § o foram o | 1fim I @rd o S uet |
<Y TS @diT <kt iy o -

(a) T 2,25,000 (b) T 25,000
e ¥ 1,75,000 @ I
HAAAT

srfyea doit < fow # frefefad o & H-81 %eF 98 8 2

(a) I W goff A 95 Ul 3 5@ wxen & afefemi % gor
Hrot fi o fow s1feeed 2 |

(b) IE AURd S &1 98 WM g 8 AfEE & fou SHar i
aTEdfass &9 o fffia fomam mam 2 |

(c) %‘s'ﬁ?’rﬁﬁﬁwa‘sﬂméﬁiﬁwmﬁqlmqﬁaﬁaﬁ%m
|

(d) Ig Frfaa (Arf ) ISl 1 98 wm g N8 omaiehl ¥ arfae
Y § 9TH fham 1 B |

A, THh FEGR 4 1 FagE, 2020 H T 1,20,000 T K FBH hI
W{%ﬁ?ﬁﬁé@@aﬁw@ﬁﬁ 31 9=, 2021 I U W T AN
&l :

(a) ¥ 3,600 (b) ¥ 7,200
(c) T 12,000 (d T 6,000
AT

forsr, STo/F auT O Ush B o HEPER & 991 AWM 7:5:8 %
3UTd § died & | 28 3T, 2021 ! €l hl g & 75 | 9eg hi fafy
Tk ®H o ATl H 3Teh {TT <hl AT T 75,000 <hl TS | SHh! @Al
frafafea 4 @ =199 @ & 9m v § ) e 2

(a) Y-8 39d @I

(b)  TATH-IH @raT

(¢) W-gI fafee @
(d) Y-S SRS T
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3. (1) Manmohan Ltd. invited applications for issuing 50,000 equity
shares of ¥ 10 each at par. The amount payable per share was as
follows :

On application ¥ 3; on allotment ¥ 4 and on first and final
call ¥ 3.

Applications were received for 1,45,000 equity shares. Applications
for 20,000 equity shares were rejected and remaining applicants
were allotted shares on a pro-rata basis. Excess application money
received with application was adjusted towards sums due on
allotment and first and final call. Amount credited to

calls-in-advance account was : 1
(a) T 2,25,000 (b) < 25,000
(c) < 1,75,000 (d Nil
OR
(i1))  Which of the following statement is correct regarding subscribed
capital ? 1

(a) It is the amount of share capital which a company is
authorised to issue by its Memorandum of Association.

(b) It is that part of authorised capital which is actually issued
to the public for subscription.

(c) It is that part of the issued capital which has been actually
subscribed by the public.

(d) It is that part of the called-up capital which has been
actually received from shareholders.

4. (1) On 1St October 2020, Amit, a partner, advanced a loan of
T 1,20,000 to the firm. In the absence of partnership deed, the

amount of interest on loan to be paid on 315t March, 2021 will be : 1
(a) ¥ 3,600 (b) ¥ 7,200
(c) < 12,000 (d < 6,000

OR

(i1))  Vijay, Ajay and Sanjay are partners in a firm sharing profits and
losses in the ratio of 7 : 5 : 8. Sanjay died on 28t August, 2021. His
share in the profits of the firm till the date of his death was
determined at ¥ 75,000. It will be debited to which of the following
accounts ? 1
(a)  Profit and Loss Suspense Account
(b)  Profit and Loss Account
(c) Profit and Loss Appropriation Account
(d)  Profit and Loss Adjustment Account

67/4/1 ~~~ Page 5 P.T.O.



67/4/1

(i1)

U fafieg 3 T 100 I% & 2,00,000, 7% FOTGHA Sl 5% qg W
frifia foren, S wem 59 fiftem @ e B | kot & e
g qA Wed W Nt &1 o Seome e g1l @@l & weem 9
fopam | RO % fR W Sroe e g @’ O @as B

i

(a) ¥ 10,00,000 ¥ SHT 9&T H
(b) ¥ 10,00,000 ¥ =19 9& ¥
(¢) ¥ 20,00,000F 919 9& ¥
(d ¥ 20,00,000 ¥ 54T 9&T H

AT

et fafies 9 T 100 TAF % 4,000, 9% RO I 10% G R Fifia
feren fSeept e Miftem @ foman ST o | SRorast & i W og’ 3T
ot & med Wi w1 et Seovs e w1 @’ & T |
foren | 3l Soovm fem w1 @ 9@ T 60,000 9, A1 RO W+
e W fifeRm < iy of -

(a) ¥ 60,000 (b) ¥ 40,000
¢ ¥ 20,000 (d ¥ 80,000

AMMHIT (4): BH % JWied W Th Il o Hed § Felad hl @GdHl

e @Td % 19 98 | 6l Il 7 |

SN (R) : ATl o qod H ghg g Bt & |
fafafaa § 9 w8 faerew =1 =74 Fifve

(a)
(b)
(c)

(d)

A (A) T 2, Tg HRU (R) T 3 |

AMH (A) TeAd 8, T RO (R) TE 7 |

ATH (A) AU HRU (R) HT T& & a9 SR (R), 3MHhT (A) i
TE! ST 7 |

ANYHYT (A) TAT SR (R) 1 Ted & |

Th B o foered W feafa foawor 9 eeian mn =) T 2,00,000 o7 | SR
HT 50% Th ATHER 5 T 65,000 H o o7 a1 3 50% ! & o3 9 20%
HH 9T S=] AT | Sk @A ok 919 987 ° @il <hi e ufsn of -

(a)
(c)

¥ 1,45,000 (b) T 80,000
¥ 65,000 @ ¥ 1,85,000
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5. (1) Anuradha Ltd. issued 2,00,000, 7% debentures of ¥ 100 each at a
discount of 5% redeemable at a premium of 5%. Discount on issue
and premium on redemption were accounted for through ‘Loss on
Issue of Debentures Account.” On issue of debentures, ‘Loss on
Issue of Debentures Account’ will be : 1

(a)  Credited by ¥ 10,00,000
(b)  Debited by ¥ 10,00,000
(c) Debited by ¥ 20,00,000
(d)  Credited by ¥ 20,00,000
OR
(11) Diksha Ltd. issued 4,000, 9% Debentures of ¥ 100 each at a
discount of 10%, redeemable at a premium. ‘Discount on Issue of
Debentures’ and ‘Premium on Redemption of Debentures’ were
accounted for through ‘Loss on Issue of Debentures Account’. If the

amount of ‘Loss on Issue of Debentures Account’ was ¥ 60,000,
then the amount of premium on redemption was : 1

(a) ¥ 60,000 (b) T 40,000
¢ ¥ 20,000 (d ¥ 80,000

6. Assertion (A) : Increase in the value of liabilities on reconstitution of a
firm i1s debited to Revaluation Account.

Reason (R): Increase in the value of liabilities is a loss. 1

Select the correct alternative from the following :
(a)  Assertion (A) is correct, but Reason (R) is wrong.
(b)  Assertion (A) is wrong, but Reason (R) is correct.

(¢) Both Assertion (A) and Reason (R) are correct and Reason (R) is
the correct explanation of Assertion (A).

(d)  Both Assertion (A) and Reason (R) are wrong.

7. On dissolution of a partnership firm, furniture appearing in the Balance
Sheet was ¥ 2,00,000. 50% of the furniture was taken over by a partner
at ¥ 65,000 and balance 50% was sold at 20% less than the book value.

The amount debited to bank account was : 1
(a) < 1,45,000 (b) < 80,000
(¢) T 65,000 (d) T 1,85,000

67/4/1 ~~~ Page 7 P.T.O.
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srTtErd (Wi T8l Tg) ST%1 Yot <1 98 W TSreh! AT Shael huH o forele o
THI & hl ST Tehdl 8, hadld! & :

(a)
(b)
(c)
(d)

(1)

(i1)

e ol

e qen gl v % § AEeR o 91 32 o STJUd H ATH-gIH died
9 | 13799, 2022 § o ATHI I ST sl & Ty w@gad ¢ | BH
i TG 1 oA T 3,00,000 foham w1 | wuRNSE f=fafea 9 &
fepd oied grT fepan Siram 2

(a) HOft & 9 98§ T 30,000 AT f=1 % =1 9@ H T 30,000 H
A |

(b) o s 9m war & T 30,000 aum goft & @1 9 H T 30,000 Hi
AT |

(c) Hoft o 9™ 9& § T 3,000 q1 f&m o sm1 9 # T 3,000 H
WA |

(d) fon e amum § T 3,000 aun gueft o @1 9 ¥ T 3,000 i
Tt |

HAAAT
T, GHA T Hifed Teh HBH U AT9ER I AT 8:5: 3 o 31 § ATHi
&1 fauTem wd 9 | 1 318, 2022 ¥ 35 I8 Fue forn f6 ufasa o 9
ATHI 1 9T 5: 6 : 5 % 319 § al | HHAfdiad § § amw-fadmse
AT | qREc o 0T ATHER o ATUAH I TN hl Tg=H hi :

(a) T8 T AT i,gquwmi,ﬁ%ﬁwwi
16 16 16
(b) duﬂwwm%,wwﬁw %,uﬁ%aa:mfw%

(¢)  STH Bl oM %,gﬂqwaﬁw %,ﬂﬁ%ﬁ%‘r JAfeeATH %

3 2 1
d A BT AH —, HdWcﬂl‘l—,ﬁll%aWﬂT’T—
(@ 16 3 16 16
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8. Part of the uncalled share capital that can be called up only at the time of

winding up of the company is called :

(a)
(b)
(c)
(d)

9. (1)

(i1)

67/4/1

Issued capital
Paid-up capital
Reserve capital

Un-issued capital

Ria and Surbhi were partners in a firm sharing profits and losses
in the ratio of 3 : 2. With effect from 15t April, 2022, they agreed to
share profits equally. The goodwill of the firm was valued at
T 3,00,000. The adjustment will be done by which of the following
transaction ?

(a)  Debiting Surbhi’s account by ¥ 30,000 and crediting Ria’s
account by ¥ 30,000.

(b)  Debiting Ria’s account by ¥ 30,000 and crediting Surbhi’s
account by ¥ 30,000.

(c) Debiting Surbhi’s account by ¥ 3,000 and crediting Ria’s
account by ¥ 3,000.

(d) Debiting Ria’s account by ¥ 3,000 and crediting Surbhi’s
account by ¥ 3,000.

OR

Naman, Suman and Mohit were partners in a firm sharing profits
in the ratio 8 : 5 : 3. With effect from 15t April, 2022, they decided
that in future, they will share the profits in the ratio 5 : 6 : 5.
Identify the gain or sacrifice by the partners due to change in
profit sharing ratio, from the following :

: . 1 . : 2
(a) Naman’s gain 3 , Suman’s sacrifice —, Mohit’s sacrifice —
16 16 16
, i 3 , .1 s .2
(b)  Naman’s sacrifice —, Suman’s gain —, Mohit’s gain —
16 16 16
, : 3 s .2 s .1
(c) Naman’s sacrifice —, Suman’s gain —, Mohit’s gain —
16 16 16
, .3 , : 2 oy : 1
(d) Naman’s gain —, Suman’s sacrifice —, Mohit’s sacrifice —
16 16 16

~~~~ Page 9 P.T.O.



10. gomal fafiee 9 T 100 I3 % 5,000, 7% FOGHT i FHT 10% Hifem
R | ffee <1 3rat o6 STJIR TRT 1 40% ATdeT W a1 3§ A& W oI
of | frifm qul &9 @ erfred g1 T qen qui TfSt wre B S | 3MegA qun ATeeA

9 " Uiy s o

(a)
(b)
(c)
(d)

T 2,50,000 91 T 3,00,000
T 2,00,000 qT T 3,00,000
T 2,00,000 q1 T 3,50,000
T 2,00,000 qT T 2,50,000

11.  TH FH I ©Ffd Sl T0ET TS =R a9 o 3Ed AW % dF 991 5 BT 6
TR Wl 75 | 31 9= ! GTH 8¢ st = ol o a9 o

®H 1 T T oI BT

(a)
(b)
(c)
(d)

Ch|

2018 - 19
2019 - 20
2020 — 21
2021 — 22

T 8,885
T 37,950
T 58,950
T 20,690

/7T ()
(14,500)
15,400
32,900
16,800

12. ofd fdfRes 3 T 10 I8 & 5,000 THAT 39, = T 5 gfd 3131 & fifrmm ©
it fomem o o, = 4 wfaq o7 i o w@ AfH A=A W PAE T HE W

g0 KL oI | BX01 W) 371 X0 @id’ o ST 981 § @dit <hl 78 Uy gnft

(a)
(b)
(c)
(d)

67/4/1

T 20,000
T 30,000
T 50,000
T 55,000

a2 2o 2o 4

Page 10



10. Sujata Ltd. issued 5,000, 7% Debentures of ¥ 100 each at a premium of
10%. According to the terms of issue, 40% of the amount was payable on
application and the balance on allotment. The issue was fully subscribed
and all amounts were duly received. The amounts received on application
and allotment respectively were : 1

(a) ¥ 2,50,000 and ¥ 3,00,000
(b) T 2,00,000 and T 3,00,000
(¢) ¥ 2,00,000 and T 3,50,000
d ¥ 2,00,000 and T 2,50,000

11. The goodwill of a firm was valued on the basis of 3 years purchase of
average profits for the last four years. The profits of last four years
ending 315t March were as follows :

Year Profit/Loss (3)
2018 -19 (14,500)
2019 - 20 15,400
2020 - 21 32,900
2021 — 22 16,800
The value of goodwill of the firm was : 1
(a) T 8,885
(b) ¥ 37,950
(c) T 58,950
(d ¥ 20,690

12. Chavi Ltd. forfeited 5,000 equity shares of ¥ 10 each issued at a
premium of ¥ 5 per share for non-payment of first and final call of ¥ 4

per share. On forfeiture, ‘Share Forfeiture Account’ will be credited by : 1
(a) ¥ 20,000
(b) ¥ 30,000
(c) < 50,000
(d ¥ 55,000

67/4/1 ~~~ Page 11 P.T.O.
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£

HEAicTiEaad #icqlqe el ®1 96T 797 399 &1 T3 a7 & TR W 97 &7 13 797
14 % 3 97 -

ShITE, P qAT JIRI ATSIER 9 AT 3 : 2 : 1 h UG H TIH-BIH dfed & | 3Teh!
TR St AR T 12,00,000, T 10,00,000 TA1 T 8,00,000 off | ¥F WEHIA TS
6 ISt M =S 10% arfies X & fgan S | JreeR 791 YR & 9a9 o §heR
g

%IE T 5,000 ¥ AE TAT FWI T 3,000 Fi fw@ |

31 HT=l, 2022 ! GHTH §T 99 H HH T 19 T 6,72,000 T |

13. ETICNI o dTc] @Al o o1 987 # Yofl | & a1 Gad & foiw @art 6t
S aTeft T oft -

(a) @ T 1,20,000, FM T 1,00,000 R FH T 80,000
(b)  h¥E T 1,80,000, FM T 1,12,000 3R TR T 80,000
(¢) 3@ T 60,000, FM T 12,000 IR G T I

(d H¥E T 3,30,000, F0 T 2,12,000 AR T T 1,30,000

14. HTEGRI % ITC] @Al H §EAad ohi S JTel AT ohl TR off -
(a) YA T 1,00,000, F T 1,50,000 T TH T 50,000
(b) A T 50,000, FOT T 1,50,000 q° T < 1,00,000
() ¥E T 1,50,000, FM T 1,00,000 T TH T 50,000
() ¥E T 1,51,500, F0 T 1,01,000 99 T T 50,500

15. &, F99 a1 o AEeR 9 997 403 0 2% I B A9 Sied o | BH *
gt WX faT qer T Y 319 Wi H | % 9T e i <d 8 | e, T

qe e o1 7= Ar9-fawTeH s1gdTa g

(a) 3:4:2
(b) 2:3:4
(c) 4:2:3
d 3:2:4
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Read the following hypothetical situation and answer questions number

13 and 14 on the basis of the given information :

Keshav, Krishna and Murari were in partnership sharing profits and
losses in the ratio of 3 : 2 : 1. Their fixed capitals were : ¥ 12,00,000,
< 10,00,000 and ¥ 8,00,000 respectively. It was agreed that interest on
capital will be allowed at 10% per annum. Partners were entitled to

salaries as follows :
Keshav ¥ 5,000 per month and Krishna ¥ 3,000 per quarter.
Profit of the firm for the year ended 315* March, 2022 was ¥ 6,72,000.

13. Amount credited to the Partners’ Current Accounts on account of ‘interest
on capital’ and ‘salary’ was : 1

(a) Keshav ¥ 1,20,000, Krishna ¥ 1,00,000 and Murari ¥ 80,000
(b) Keshav ¥ 1,80,000, Krishna ¥ 1,12,000 and Murari ¥ 80,000
(c) Keshav ¥ 60,000, Krishna ¥ 12,000 and Murari ¥ Nil

(d) Keshav ¥ 3,30,000, Krishna ¥ 2,12,000 and Murari ¥ 1,30,000

14. Amount of profit transferred to Partners’ Current Accounts was : 1
(a) Keshav ¥ 1,00,000, Krishna ¥ 1,50,000 and Murari ¥ 50,000
(b) Keshav ¥ 50,000, Krishna ¥ 1,50,000 and Murari ¥ 1,00,000
(c) Keshav T 1,50,000, Krishna ¥ 1,00,000 and Murari T 50,000
(d) Keshav T 1,51,500, Krishna ¥ 1,01,000 and Murari T 50,500

15. Niva, Naman and Nityam were partners sharing profits in the ratio of
4 : 3 : 2. Niva and Naman each give — from their share to Nityam on
reconstitution of the firm. The new profit sharing ratio among Niva,

Naman and Nityam will be : 1
(a) 3:4:2
(b) 2:3:4
(c) 4:2:3
d 3:2:4

67/4/1 ~~~ Page 13 P.T.O.



17.

18.
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(1)

(i1)

31, HI a9 € U FH § WEER 9 q° 5:3: 2 % A A AT
fawTsH &t o | 1 ST, 2022 @t "I 1 e 81 T | 31g q1 |,
A o W 1 A(GEw e Sgard § -

(@ 1:1 b)) 3:2

(¢ 5:3 d)

arera
fafea, gma qen wiar teh w0 | HEER o G 4 : 3 : 19 3T § AT
1 fIASE L 9 | Hiar 1 FHeT g T q9n 3ueh 9 9 fafda 9 |
foren | fafea aqen gita o1 o enw-fasmem srguma g
(@) 1:1 (b) 5:3
() 3:5 d 5:2

Ufga qon Hifgd Teh HH o @THER & aAT 3 : 2 o U | T9-gIH dfed & |
T@Eaﬁmﬁéﬂm%ﬁdQQ%deWW | %4 <l =l
Tt T 30,000 TR T | UEA 0T GSH o T T 40,000 qAT @AM
HitRE % 9 9T H # T 5,000 TG AR | TGA % T o6 THI BH I

q&dehl B ©A1d T 15,000 W g1is AT off |
T o YI% W FH H G&Ihl H IUYHh oAl o [T AT USHIH=
gfefseat i |

(%)

HifehT, T AT HHITCToh! HISIGR & AT 6 : 4 : 1% AId § <Y
Fiedt & | ATl I Al H 3194 9W & I T 3,00,000 1 =
iy 1 TR & T B | 31 W, 2022 I THH §C A9 H HH I
< 22,00,000 T I W 3T |

31 AT, 2022 ! A BT a¥ & [AQ BH 1 AH-MH faf=em @
RRUESEIELS

AT

~~~~ Page 14



17.

18.
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(i) Anu, Monu and Sonu were partners in a firm sharing profits in the
ratio of 5 : 3 : 2. Monu died on 15t January, 2022. Anu and Sonu
will acquire Monu’s share in the ratio of : 1
(@ 1:1 (b) 3:2
() 5:3 d 5:2
OR

(i1)  Vidit, Sumit and Mita were partners in a firm sharing profits in

the ratio of 4 : 3 : 1. Mita died and her entire share was taken up

by Vidit. The new profit sharing ratio of Vidit and Sumit will be : 1
a 1:1 (b) 5:3
(c) 3:5 d 5:2

Rohit and Mohit were partners in a firm sharing profits and losses in the
ratio of 3 : 2. Rahul was admitted into partnership for %share in profits.
Goodwill of the firm was valued at ¥ 30,000. Rahul brought ¥ 40,000 as
capital and ¥ 5,000 out of his share of goodwill premium in cash. At the
time of Rahul’s admission, goodwill was appearing in the books of the
firm at T 15,000.

Pass necessary journal entries for the above transactions in the books of

the firm on Rahul’s admission. 3

(a)  Monika, Bhoomika and Kamolika are partners sharing profits in
the ratio of 6 : 4 : 1. Kamolika is guaranteed a minimum amount of
T 3,00,000 as her share in profits. The firm earned a net profit of
T 22,00,000 for the year ended 315t March 2022.
Prepare Profit and Loss Appropriation Account of the firm for the

year ended 315t March, 2022. 3

OR
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(@)

I, Wit dn e uh wH H "R off qun IR ¢St s
< 3,00,000, T 2,00,000 AT T 1,00,000 off |

TR Gci@ o TagHi o IR :

(i) =T qAT FleA eI T 1,500 HITHeh I shl gher off |

(i) 9T T 4,000 SNk Ia- hl FehalX off |

39Yh FHEISH! i Ty fomT 31 @r=l, 2022 hl @HTH gL oW % AW
T 80,000 I ATECRT & o 3Teh Y-G9 3@ 3 : 3 : 2 | di¢
feam |

ST I 1 IR B o (€ BH Hl &l § AE9TH UMl
gfafse Shifsre | 10t et fewaforn =t Tose w9 @ gwifsu |

1 30, 2021 +i feaw fafes 3 uow f@ifies &t < 8,00,000 <hi
giEafeai 9em T 40,000 <l SIAIST T IUUEW T 8,30,000
%d Oed W fohan | fgaw fafies 3 woe fafies it yam 7= y&r &
fopam

(i) T 2,00,000 I Th TR gL AT G ATE I9EGT I off, qe

(i) YN fAHES I AT T eI H FIAA T 100 T3 6 10%
O Tl 10% qg R THifta ieh foham T |

39Yh el o1 fgdw fafies 1 qdeni # @@l & % Y 3Tmewde
ST gfafsear i |
AAAT

fom fafiee 3 100 J&% & 500 =0 & = 10% HfEm «
frtfia femem o o qen o9 W = 90 ufa o o 7w 9, T 30 ufq W
amees (Sifiem |fgd) dom = 20 Ui 3191 YW AT 1 YTAE 7 i W
&1 Rt T | $TH | 300 37T I T 80 Wi 37191 qUi Wed YH:rifHa &t
fom |

39T o g1 AT YA TTe Y straves Ustmm=n wfafseat Hifsr |

~~~~ Page 16



19.

67/4/1

(a)

(b)

Ananya, Bhavi and Chandni were partners in a firm with capitals
of ¥ 3,00,000, ¥ 2,00,000 and T 1,00,000 respectively.

According to the provisions of the partnership deed :

(1) Ananya and Chandni were each entitled to a monthly salary
of T 1,500.

(i1)  Bhavi was entitled to a salary of ¥ 4,000 per annum.

The profit for the year ended 315t March, 2022, ¥ 80,000 was
divided between the partners in their profit sharing ratioof 3:3: 2

without providing for the above adjustments.

Pass the necessary adjustment entry to rectify the above omissions

in the books of the firm. Show your working notes clearly.

On 15t April, 2021, Hitesh Ltd. took over assets of ¥ 8,00,000 and
liabilities of ¥ 40,000 of Pranjal Ltd. at an agreed value of
T 8,30,000. Hitesh Ltd. paid the amount to Pranjal Ltd. as

follows :

(1) Gave an acceptance payable after 3 months for ¥ 2,00,000,
and

(ii)  Issued 10% Debentures of ¥ 100 each at a discount of 10%
to Pranjal Ltd. in satisfaction of the balance amount of

purchase consideration.

Pass the necessary journal entries to record the above transaction
in the books of Hitesh Ltd.

OR

Disha Ltd. forfeited 500 shares of ¥ 100 each issued at 10%
premium, ¥ 90 called up, on which the shareholders did not pay
T 30 per share on allotment (including premium) and first call of
T 20 per share. Out of these, 300 shares were reissued for ¥ 80
per share, fully paid up.

Pass necessary journal entries for forfeiture and reissue of shares.

3
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%, @ qUT T Tsh BH & HEER I 97 ATH-BI S-S sied o | ITh!
Tl gSft sEE: T 10,00,000, T 9,00,000 T T 8,00,000 off | AR Hor@
T = =1 ey o

(1) 9t W 9% aTfies gt & = |
(2) AW W 12% TNk e T = |

(3) HEIER ¢RI %H k! f2U 7T ko1 W 10% a1t et & &I |
a¥ & AH @ 7 U SIRETd SUAT & AT T 20,000 HT IEWT AT |
30.09.2021 %! % 9 ®H I T 70,000 hT k0T {1 |

31 W, 2022 ! GHTH BT 99 o U wH H geahl § Effed % fog
AT U= gfafseat hifs

() TH I W SN YEE HH * A |

(ii) o % U W I YH HA & T |

(iii) @ % SATE W S IHING A o 7T |

gy & S ot feufs @ et @@ /ey uree w e d@ s
yfafseat oft i |

ehTST, RIS AT Tehd Teh SIET o TSGR o QAT 2 : 2 : 1 o 34 H
AT ! Sied o | 319, 2022 i 3ehT fefa foawor =1 g o

31 W, 2022 1 TehTIT, 3TTRTIT quT fererra vt fearfar feramon

ISELALS 2.,00,000 | §<h 40,000
= 9= 1,00,000 | ih 60,000
g SR 1,60,000
EEIN] 1,20,000 IEER] 1,40,000
1N 2,00,000 i 70,000
forerm 80,000| 4,00,000 | o 2,30,000

7,00,000 7,00,000
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20. A, B and C were partners in a firm sharing profits and losses equally.
Their respective capitals were ¥ 10,00,000, ¥ 9,00,000 and ¥ 8,00,000.
The partnership deed provided for the following :

(1) Interest on capital @ 9% per annum.

(2) Interest on drawings @ 12% per annum.

(3)  Interest on partners loan to the firm @ 10% per annum.

During the year, B had withdrawn ¥ 20,000 for his personal use.
On 30.9.2021, A had given a loan of ¥ 70,000 to the firm.

Pass the necessary journal entries in the books of the firm for the
following for the year ended 318t March, 2022 :

(1) Allowing interest on C’s Capital.

(i1))  Providing interest on A’s Loan.

(iii) Charging interest on B’s Drawings.

Also give transfer entries in the Profit and Loss Account/Profit and Loss
Appropriation Account, as the case may be.

21. Prakash, Aakash and Vikas were partners in a business sharing profits
in the ratio of 2 : 2 : 1. Their Balance Sheet as at 315t March, 2022 was as
follows:

Balance Sheet of Prakash, Aakash and Vikas as at 315t March, 2022
A t A t
Liabilities moun Assets moan
< <
Creditors 2,00,000 | Bank 40,000
General Reserve 1,00,000 | Stock 60,000
Debtors 1,60,000
Capitals : Investments 1,40,000
Prakash 1,20,000 Furniture 70,000
Aakash 2,00,000 Building 2,30,000
Vikas 80,000 | 4,00,000
7,00,000 7,00,000
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30 faawer, 2022 F1 T 1 T & T3 | Th ARIGR 6! I T AR i@
# 1 1 Y@y o

(1)  Hg ol Ay % Gash HISIGR I AH H 3G 9T S9! 0T, TUsd
Y o TH o YR T hl S |

(i) H hl ©ITd | 391 9T Srgehl AT fusd =) 99l o 3Ed oY <+
@ ST o A o IMYUR T i STl |
31 TTd ! TuTH fUSe 9r a¥f & oy = TR o ¢
2018 — 19, T 1,60,000; 2019 — 20, T 1,00,000; 2020 — 21, T 80,000
JAqT 2021 — 22, T 60,000.

(i) gcg ol fafr qeh Feieh TSGR I ATET T 20,000 T |

(iv) IS R &N 12% aTfeeh gt & feam Sram |
foRTa o TN h! T B oh AW foehrd T ISl @A AR HIT |

TR fafidg i1 T 10 Y o d9al =N | fawwh T 20,00,000 i Afe=ha
gt off | ®E 9 60,000 I o A % U steEd omwbm foR |
58,000 3791 % 1T 3TEET 9= TH 7 |

gft IEETE H{I Sl T e 2,000 M W T 3 Uld W hl f=H I=ET B
Biehl ot ITH &1 718 | 39 3T bl 801 K foram T |

HOt AfafEm, 2013 h T LI, WIT I 3 AR 3T A’ hl Hul
feyfa foawor o quis | 35 & fou @i & T’ off TR il |

frafafga feafaat & oavam fafiee i geast 4 12% woraEt & s 6

AT USHTHET Tfa (ST shifoTg

i) T 100 % % 1,000 12% FO9ET b1 FET 10% Hifmm @ o
et sneM 5% Mfrem o fohan < @ |

(i) T 100 I¥% & 5,000 12% TG o1 FHT 10% Nfem 9 femm
SeeRT =M ey W foRan ST 2 |

(iii) ¥ 100 T % 2,000, 12% FOGHA 1 TFHT 10% G R foham e
e 5% Hfeem W foman S 8 |
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Vikas died on 30th September, 2022. On the death of a partner the
partnership deed provided for the following :

(i)  Deceased partner will be entitled to his share of profit up to the
date of death calculated on the basis of previous year’s profit.

(i1) His share in the Goodwill of the firm, calculated on the basis of
3 years purchase of average profits of last four years. Profits for
last four years ended 315t March were as follows :

2018 -19, ¥ 1,60,000; 2019 — 20, T 1,00,000; 2020 — 21, T 80,000
and 2021 — 22, ¥ 60,000.

(iii) Drawings of the deceased partner up to the date of death were
< 20,000.

(iv) Interest on capital was allowed @ 12% per annum.

Prepare Vikas’s Capital account to be rendered to his executors.

Sunstar Ltd. has an authorised capital of ¥ 20,00,000 divided into equity
shares of ¥ 10 each. The company invited applications for issuing 60,000
shares. Applications were received for 58,000 shares.

All calls were made and were duly received except the final call of ¥ 3
per share on 2,000 shares. These shares were forfeited.

Present the ‘Share Capital’ in the Balance Sheet of the Company as per
Schedule III, Part I of the Companies Act, 2013. Also prepare ‘Notes to
Accounts’ for the same.

Pass necessary journal entries for issue of 12% debentures in the books of
Ghanshyam Ltd. in the following cases :

(1) Issued 1,000, 12% debentures of ¥ 100 each at a premium of 10%,
redeemable at a premium of 5%.

(i1)  Issued 5,000, 12% debentures of ¥ 100 each at a premium of 10%,
redeemable at par.

(i11)  Issued 2,000, 12% debentures of ¥ 100 each at a discount of 10%,
redeemable at a premium of 5%.
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24. Uk BH & foued w fafim uferafe (s & sifafis) qen smer exast =i

I @I H A0l o 99ETq MHfRad TFedl & O STeweeh ISt

yfafseat Hif :
(i) ™ A T 20,000 % THERI % &E oh QU FMUCH H I T 18,500 HI
Pae R |

(ii)  foa® 3 3o gt o T 70,000 o O o YA il TGAM < |

(iii) H @ 9™ T 2,00,000 = AfARgd o & St @it 781 fopam = o,
T2 20% <ht g1f9 9 o= feam T |

(iv) WH % 9@ T 1,00,000 T I AT | FFUT 7 i &l 10% G | o
form |

(v) {93, S T ¢AeR ot 91 e @l fUed 9y < 2,000 § $§d R
% &9 H fARad o fgam T o1, Uit % 70% @1 YA & e |

(vi) T 4,900 % IEH ST 1 YTaH Ueh ATeeR T gra fom |

25. (%) YW q1 B9 Th BH hI ARG off qA 5 : 3 o I H ATH-ZIH Seat
off | 1379, 2022 i &8 3fefd 1 T AR s | 37 fafyr =
et fearfa faaror fe e o

1 379, 2022 T YU a1 ST w7 feurta foaon

& e 3,80,000
fH 3,20,000 Feffer 50,000
Bfa 3,40,000 | 6,60,000 | &TER 2,30,000

qH= 9= 80,000 | ¥Ih 1,50,000

S kU7 60,000 | Ths 50,000

TR 60,000

8,60,000 8,60,000

aﬁ%ﬁﬁmﬁmmﬁmwﬁﬁ%m%ﬁmﬁﬁmﬁmw:

(i) 3l T 3,00,000 9 Sl o I H AT |

i)  efefa wnfa e %1 somr Wi g wwht | wH ' 6
HedTeh fUsel 19 a9l o 319d A9 % Gl a9 o Y o STMURX T
foram T | fUse fi9 9wl 1 3| @19 T 60,000 o |
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24. Pass the necessary journal entries for the following transactions on
dissolution of the firm of Varun and Vivek after various assets (other than
cash) and outside liabilities were transferred to Realisation Account : 6

(1) Varun paid creditors ¥ 18,500 in full settlement of their claim of
< 20,000.

(i1)  Vivek agreed to pay his wife’s loan of ¥ 70,000.

(i1i) The firm had unrecorded investments of ¥ 2,00,000, which were
sold at a loss of 20%.

(iv) The firm had stock of ¥ 1,00,000. Varun took over the stock at a
discount of 10%.

(v) Reema, a debtor whose account for ¥ 2,000 was written off as a
bad debt in the previous year, paid 70% of the amount.

(vi)  Expenses of realisation ¥ 4,900 were paid by partner, Vivek.

25. (a) Bhumi and Chavi were partners in a firm sharing profits and
losses in the ratio of 5 : 3. They admitted Aditi in the firm on
15t April, 2022. On that date their Balance Sheet was as follows :

Balance Sheet of Bhumi and Chavi as at 15t April, 2022

A t A t
Liabilities T2 | Assets e
Capitals : Machinery 3,880,000
Bhumi 3,20,000 Furniture 50,000
Chavi 3,40,000 | 6,60,000 | Debtors 2,30,000
General Reserve 80,000 | Stock 1,50,000
Bank loan 60,000 | Cash 50,000
Creditors 60,000
8,60,000 8,60,000

Aditi was admitted in the firm with % share in profits on the
following terms :
(1) Aditi will bring ¥ 3,00,000 as her capital.

(i1)  Aditi will bring her share of goodwill premium in cash.
Goodwill of the firm was valued on the basis of two years
purchase of average profits of the last three years. Average
profits of the last three years were ¥ 60,000.
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(iii) AR 1 IR T 4,60,000 ToRaT TR |

(iv)  ff a1 B 1 St 1 THRINE 16 GTd @iasht 3Tfeid shi gait
& YR g foRar T |

qHCToh QAT a2 ATRIGRT < eil Wi dar hifT |
arra

(@) AT, ST qen AT TeieR off 9°1 50 3 : 2 o AU H TH-gIH Sl
off | 31 AT, 2022 i 3ehT fefd faemor = Tevr o

31 W=, 2022 1 TAT, A1 qor =T 1 feufa feao

TR 66,000 | HI= 1,12,000
g foa 59,000 | Tk 1,77,000
e 2,80,000
il raksiienyl
T 2,00,000 & fow g@e™ 7,000 | 2,73,000
91 2,00,000 s 63,000
EACIl 1,00,000 | 5,00,000
6,25,000 6,25,000

39 Tl ! T Frefeiea st W Sar-ad & T

(i)  ®H s TSAIMT 1 JeATehd T 60,000 TohaT 721 T&T THT o BT
9T %1 WY AIRIER < IS Qrdi o HIEIH 8§ FHEMNG e T
0|

(i) =R W T 10,000 TeISE ST T4 |

(iii) TAT I SET a1 A G AT W kg ok HIEAH F YA 39
g TRl ST @ Toh 3SRt USf 3ok U &y formeia oqumd 1: 1
B AT |

qHcATeh @Il 9T |IBIGRT o Yol @I dIr i |
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(i11) Machinery was revalued at ¥ 4,60,000.

(iv)  The capitals of Bhumi and Chavi were adjusted on the basis
of Aditi’s capital by opening current accounts.
Prepare Revaluation Account and Partners’ Capital Accounts. 6

OR

(b)  Anna, Bina and Teena were partners sharing profits and losses in
the ratio of 5 : 3 : 2. Their Balance Sheet on 315t March, 2022 was
as follows :

Balance Sheet of Anna, Bina and Teena as at 315t March, 2022

Liabilities Am;unt Assets Am;unt

Creditors 66,000 | Furniture 1,12,000

Bills Payable 59,000 | Stock 1,77,000

Debtors 2,80,000
Capitals : Less — provision for

Anna 2,00,000 bad debts 7,000 | 2,73,000

Bina 2,00,000 Cash 63,000
Teena 1,00,000 | 5,00,000

6,25,000 6,25,000

On the above date, Anna retired on the following terms :

(1) Goodwill of the firm was valued at ¥ 60,000 and Anna’s share of
goodwill was adjusted through the capital accounts of remaining

partners.
(i1)  Furniture was depreciated by ¥ 10,000.

(iii)) Anna was to be paid through cash brought in by Bina and Teena in
such a way as to make their capitals proportionate to their new

profit sharing ratio of 1 : 1.

Prepare Revaluation and Partners’ Capital Accounts. 6
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(1)

Iy fafies 3 T 10 I8+ % 50,000 THAT M Bl 10% WFEH |
fifia s @ foiu s1eeq stmba fohe | Uit 1 Yam = TR & @

gq1

Aded W T 3 9fd 319 feed W (Hiftem wfga) T 3 ufa o791 aan yem
T Af~qH I WA

1,20,000 37T o AT 3ATGH UTH §U | 37 I 3MEA AR HTGR
w gft 3mdgen W fear M | 3mded W ye srfafee ufst W
THTIASH 3Tee T ¢F TR H L f&an T | 3f1eed W ¢ 37ded Uiy 4
JAfYeh [T a9 o & T | U IWURS B 6,000 M & faU
3T foham o, Yo wa SAfeqw Freen UM 1 YA A& S Hehl e
3Gk ST T FOT H o1 T | T RT T 3T T 60,000 O
mgﬁﬁﬁﬁﬁwﬁmﬂaﬂ

3T e o 7T w1 fafide <l geaenl § 3TTawereh s Sfafseat

ST |
HAAT

aferar fAfide 9 10 I3 & 5,00,000 FHAT 3790 Bl 10% FfEH |
frifra e o faT s g=hes IRt R | s @1 grae = TR |
ézf?ﬂ:

e W T 3 Ufd 3T, 3meed W (Hifiw afgq) = 5 ufa o191 aun gem
g 39 Ir=AT W T 3 Ifd 390 |

6,00,000 379 % AT 3Telgd U8 gL qA1 |l TEEhi I IR
WWWWWWW|WWW3®WW@W

FERITSH A6 R oF TR & KT fen | wft o afy ww e,
et gt & sfafis, GﬁlOOO 3TN T UTeh o1, AT e 9 JoH
Ug 3IfcH IAMEET T PAHE wH B 6 @ | e W
foram |

soiar fafee 1 geaehl § IUYH TGl o [olC TTaRdeh  USHIHE
yfafseat KT | Il TavIes 8 3fed I Gl ity |

CINRC)
foehew - 1
(Terfrar feramot <At ferverwor)

If a1 a9 § Y= @ AT T 10,00,000 7 TAT Tehel ATH, AN T
25% &, Al I § AN hl ATd BT

(a) ¥ 2,50,000 (b) T 12,50,000
e ¥ 2,00,000 (d ¥ 8,550,000
AT
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26. (a) Yash Ltd. invited applications for 50,000 equity shares of ¥10 each
at a premium of 10%. The amount was payable as follows :
On application ¥ 3 per share; on allotment (including premium)
T 3 per share and on first and final call, the balance amount.
Applications were received for 1,20,000 shares and shares were
allotted on pro-rata basis to all applicants. The excess money
received on application was to be adjusted towards sums due on
allotment. Application money in excess of sums due on allotment
was refunded. A shareholder who applied for 6,000 shares could
not pay the first and final call money and his shares were forfeited.
The forfeited shares were reissued for ¥ 60,000 fully paid up.
Pass necessary journal entries for the above transactions in the
books of Yash Ltd. 6

OR
(b)  Ajanta Ltd. issued a prospectus inviting applications for issuing
5,00,000 equity shares of ¥ 10 each issued at a premium of 10%.
The amount was payable as follows :

On application — ¥ 3 per share
On allotment (including premium) — ¥ 5 per share
On first and final call — ¥ 3 per share

Applications were received for 6,00,000 shares and pro-rata
allotment was made to all applicants. Excess money received on
application was adjusted towards sums due on allotment. All
amounts were duly received except from Sumit, who was the
holder of 1,000 shares, and failed to pay the allotment and first
and final call. His shares were forfeited.

Pass journal entries for the above transactions in the books of
Ajanta Ltd. Open calls-in-arrears account wherever necessary. 6

PART B
OPTION -1
(Analysis of Financial Statements)

27. (1) If revenue from operations is ¥ 10,00,000 and gross profit is 25%

on cost, cost of revenue from operations will be : 1
(a) < 2,50,000 (b) < 12,50,000
(c) < 2,00,000 (d < 8,50,000

OR
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(i) Ife 3ma fofies =1 J=TeH STIUTd 60% 7, A SH! Y=TaH oy AUTd

B
(a) 100%
(b) 60%
(¢c) 40%
d  160%
28. Uehs TATE TRl SHId W T T o1 gHT W A ohl afieha foha
ST

(a) Tocia nfafafea & su 6
(b) =TS Tfdfafy & w9 H
(¢c) oo nfafafy & w9 @

~

(d) Uhs Td UhS oI o &9

29. (i) Ti=feiRaa & & forgen afomm Uehe werg B 2
(a) d% ¥ T 50,000 T TG L
(b) WM % Afaehalatl sl T 2,00,000, 9% TG 1 FTHA
(c) oMell & T 30,000 < Ty
(d) d% T T 20,000 % < AT fhU

YT
(i) T o% &+ aE= 9 ° Ushg-qed UM Il 8 had adl & $&h!
INE AT B, IR e, df e 6 iy a |
(a) < HEM 31an AfTh
(b) ®: HEM 3T A
(c) U gy 3{al A
(d) o TEH 1eEr wE

o

30. fr=faRaa o @ SH-a1 MyA-q9aT 31U 757 & ?
(a) o9 w e
(b) SIS AT U

(c) EdTiHcd U
(d)  HA IRFEIRET T RO ST
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28.

29.

30.

67/4/1

(i1)

If the operating ratio of Aman Ltd. is 60%, its operating profit ratio

will be : 1
(a) 100%

(b)  60%

() 40%

d 160%

While preparing Cash Flow Statement, ‘Interest received’ by a finance
company is classified as : 1

(a)
(b)
(c)
(d)

(1)

(i1)

Financing activity
Operating activity
Investing activity

Cash and cash equivalents

Which of the following will result in flow of cash ? 1
(a) Cash withdrawn from the bank ¥ 50,000

(b) < 2,00,000, 9% debentures issued to vendors of machinery

(c) T 30,000 received from debtors

(d)  Cheques of ¥ 20,000 deposited in the bank

OR
An investment normally qualifies as cash equivalent only when it
has a short maturity, of say, from the date of acquisition. 1

(a) Three months or more
(b) Six months or less
(c) One year or less

(d) Three months or less

Which of the following is not a Solvency Ratio ? 1

(a)
(b)
(c)
(d)

Return on Investment
Interest Coverage Ratio
Proprietary Ratio
Total Assets to Debt Ratio
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31. fmfcfead #g 1 Sod Afufm, 2013 i ST 111, 9T I & STTAR St
o feufa faawor & gea sfivehi qen u-sfiveni (IfE FIS 71) | Ffiha HIT : 3
i) UhHE
(i)  YSTd R WA W
(iii) YA 7 T3 TR ATHIS

32. T STIUIAI T UNhe Th HGUM o TEICHI shl TRl I HIUH o folu
foRer ST 8 St fob soemma ® fRifoa weneHt o guTedul 3w W s 7

(%) ST H Afa U o TR hl IgaTT |
(@) 3 (%) § 98I T FIITAl o TR o fohral Gl STUTAI bl THAST | 3

33. (1) (%) @ fofies 1 aTe] UM 35 : 1 8 A TA A 2:1 7 |
afe o il @ o efemafri fostfenar e
gfaffeca Teieh (3av¢l) T 8, T 48,000 &, Al =Te] THEFqi

T =] QAN shl UM ST | 2+2=4
(@) =R GHAT FTITT hi TUFT hHIT :

AT & I - T 2,00,000

=9 U9 M - T 1,00,000

F O _ Z 4,00,000

EISER Y - T 1,00,000

arerat

(i) T HUHl HI AT A 2: 1 8 | AU Fled 3g@ shitwe fop fmfefaa

TS T STUTT TS, TS AT ITH hIg TN el T : 4

(%) T 60,000 % HTA Hl 7TE
@) T 2,00,000 s TARR GNEERRET T AE BT

) T 20,000 ! AT & TTA BT T 23,000 H 3UR farsha
) ¥ 10,00,000 % 37N HI A
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32.

33.
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Classify the following items under major heads and sub-heads (if any) in
the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 :

(1) Patents

(ii))  Capital work-in-progress

(iii)) Unpaid dividend

‘These ratios are calculated for measuring the efficiency of operations of
business based on effective utilisation of resources.’

(a)  Identify the types of ratios being discussed above.

(b)  Explain any two ratios of the types of ratios identified in (a) above.

(i) (a) Y Ltd. has a Current Ratio of 3-5 : 1 and Quick Ratio of
2:1. If excess of current assets over quick assets
represented by inventory is ¥ 48,000, calculate current

assets and current liabilities. 2+42=4

(b)  Calculate Debt to Equity Ratio :

Shareholder Funds - ¥ 2,00,000

Reserves and Surplus — ¥ 1,00,000

Total Debt — T 4,00,000

Current Liabilities — ¥ 1,00,000
OR

(ii)) The Current Ratio of a company is 2 : 1. State giving reasons
which of the following transactions would improve, reduce or not

change the ratio :

(a)  Purchase of goods for cash ¥ 60,000

(b) Purchase of fixed assets for cash ¥ 2,00,000

(c) Sale of goods costing ¥ 20,000 for ¥ 23,000 on credit
(d) Issue of shares ¥ 10,00,000
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Read the following hypothetical text and answer the given question on
this basis :

Madhav is a young entrepreneur. On 1St April, 2019, he formed a
partnership firm with two of his friends, Mohan and Sohan. They started
their business of exporting dry fruits. Their business was a successful
business. Now they wanted to expand the business in many other
countries. For meeting the financial requirements, they changed the form
of business organisation and formed Madhav Ltd. The Balance Sheet of

Madhav Ltd. as at 31.3.2022 was as follows :
Balance Sheet of Madhav Ltd. as at 315t March, 2022

Page 33

Particul Note | 31.3.2022 | 31.3.2021
articulars No. > -
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 35,00,000 | 25,00,000
(b) Reserves and Surplus
(Statement of P & L) 12,50,000 | 10,00,000
2. Non-Current Liabilities
Long-term Borrowings
(10% Debentures) 12,50,000 3,50,000
3. Current Liabilities
(a) Short-term Borrowings
(Bank Overdraft) 20,000 75,000
(b) Trade Payables 2,50,000 1,50,000
(c) Short-term Provisions 1 1,50,000 75,000
Total 64,50,000 | 41,50,000
II - Assets :
1. Non-Current Assets
Fixed Assets
(a) Tangible Assets 2 40,00,000 | 22,50,000
(b) Intangible Assets
(Goodwill) 3,50,000 5,00,000
2. Current Assets
(a) Inventories 6,25,000 5,00,000
(b) Trade Receivables 12,50,000 7,50,000
(c) Cash and Cash
Equivalents 2,25,000 1,50,000
Total 64,50,000 | 41,50,000
N N N
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Notes to Accounts :

Note 31.3.2022 | 31.3.2021
No. Particulars Amount Amount
< <
1 Short term Provisions
Provision for Tax 1,50,000 75,000
2 Tangible Assets
Plant and Machinery 44,00,000 | 25,00,000
Less Accumulated Depreciation (4,00,000) | (2,50,000)

40,00,000 | 22,50,000

Additional Information :

1)

(i1)

A part of the machine costing ¥ 1,25,000 accumulated depreciation

thereon being ¥ 50,000 was sold for 45,000 during the year.

Interest of ¥ 1,25,000 was paid on Debentures.

Calculate cash flows from ‘Investing activities’ and ‘Financing activities’

of Madhav Ltd. from the information provided above.

(1)

PART B
OPTION - 11
(Computerised Accounting )

The need of codification is for :

(a)  Generation of mnemonic codes.

(b)  The encryption of data

(c) Securing the accounts, reports, etc.

(d)  Easy processing of data and keeping proper records

OR
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29.

30.
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(i1)

Where are the amounts owed by customers for credit purchases
found in books of accounts ?

(a)  Accounts Receivable Journal

(b)  General Ledger

(¢)  Accounts Receivable Subsidiary Ledger
(d)  Sales Journal

28. Pie Charts do not have more than categories.

(a)
(b)
(c)
(d)

Three
Twenty
Twelve

Seven

29. Which of the following statement is not a limitation of computerised
accounting system ?

(a)
(b)
(c)
(d)

30. (D

(i1)

67/4/1

Data is not made available to everyone.
Data may be lost or corrupted due to power interruptions.
Data are prone to hacking.

Unprogrammed and unspecified reports cannot be generated.

To safeguard assets and optimise the use of resources, a business
(a)  Only tries to earn maximum revenue.

(b)  Keeps internal controls.

(c) Only ensures accurate accounting records.

(d)  Only safeguards assets.
OR

Correct ##### error appears :

(a)  When a number is divided by zero.
(b)  When value is not available.

(¢)  When column is not wide enough.

(d) When formula is not available.
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32.

33.

34.

67/4/1

What is meant by ‘Memo Voucher’, ‘Post-dated Voucher and
‘User-defined voucher’ ?

Differentiate between ‘Generic Software’ and ‘Tailored Software’ on any

three basis.

(a) How can the format of a selected chart element be changed ?

Explain.
OR

(b)  List any eight uses of accounting software.

Name and explain the financial function which will be used to verify the

total interest on a loan between any two periods.
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination, 2023
ACCOUNTANCY (055)

PAPER CODE: 67/4/1

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct assessment of the
candidates. A small mistake in evaluation may lead to serious problems which may affect the future of
the candidates, education system and teaching profession. To avoid mistakes, it is requested that before
starting evaluation, you must read and understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to public in any
manner could lead to derailment of the examination system and affect the life and future of
millions of candidates. Sharing this policy/document to anyone, publishing in any magazine and
printing in News Paper/Website etc may invite action under various rules of the Board and
IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done
according to one’s own interpretation or any other consideration. Marking Scheme should be strictly
adhered to and religiously followed. However, while evaluating, answers which are based on latest
information or knowledge and/or are innovative, they may be assessed for their correctness
otherwise and due marks be awarded to them.

The Marking scheme carries only suggested value points for the answers. These are in the nature of
Guidelines only and do not constitute the complete answer. The students can have their own
expression and if the expression is correct, the due marks should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator on the
first day, to ensure that evaluation has been carried out as per the instructions given in the Marking
Scheme. If there is any variation, the same should be zero after deliberation and discussion. The
remaining answer books meant for evaluation shall be given only after ensuring that there is no
significant variation in the marking of individual evaluators.

Evaluators will mark( V') wherever answer is correct. For wrong answer CROSS X" be marked.
Evaluators will not put right (v) while evaluating which gives an impression that answer is correct
and no marks are awarded. This is most common mistake which evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks awarded for
different parts of the question should then be totalled up and written in the left-hand margin and
encircled. This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and encircled.
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This may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more marks should be
retained and the other answer scored out with a note “Extra Question”.

10

No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

11

A full scale of 80 marks has to be used. Please do not hesitate to award full marks if the answer
deserves it.

12

Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day
and evaluate 20 answer books per day in main subjects and 25 answer books per day in other subjects
(Details are given in Spot Guidelines).

13

Ensure that you do not make the following common types of errors committed by the Examiner in the
past:-

Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totalling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totalling on the title page.

Wrong totalling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly
and clearly indicated. It should merely be a line. Same is with the X for incorrect answer.)
e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14

While evaluating the answer books if the answer is found to be totally incorrect, it should be marked as
cross (X) and awarded zero (0)Marks.

15

Any un assessed portion, non-carrying over of marks to the title page, or totalling error detected by the
candidate shall damage the prestige of all the personnel engaged in the evaluation work as also of the
Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the instructions
be followed meticulously and judiciously.

16

The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

17

Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title
page, correctly totalled and written in figures and words.

18

The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the
prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once again
reminded that they must ensure that evaluation is carried out strictly as per value points for each
answer as given in the Marking Scheme.
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MARKING SCHEME
Senior Secondary School Examination 2023

ACCOUNTANCY (Subject Code-055)
[Paper Code: 67/4/1]

Maximum Marks: 80

PART -A
(ACCOUNTING FOR PARTNERSHIP FIRMS AND COMPANIES)

Q. No. EXPECTED ANSWER / VALUE POINTS Marks
1 Q. Vijay and Ajay are partners.........cccoeeeeeecneecssnnccssanecsonnes
Ans. 1
(a) Interest on Drawings Account mark
2 Q. On dissolution of the firm of Ramesh
Ans. 1
(c) X14,500 mark
3 Q.(i) Manmohan Ltd. invited applications
Ans. 1
(1) (b)X 25,000 mark
OR OR
Q. (ii) Which of the following statement..........c.cccceecuerene.
Ans. 1
(i1) (c) It is that part of the issued capital which has been actually subscribed by the public. mark
4 Q. (i) On 15t October 2020, AMit........oceeereerererncrcrcsecscnes
Ans. 1
(1) (a)%3600 mark
OR OR
Q.(ii) Vijay, Ajay and Sanjay are partners.........cceeeeeeueee
Ans. 1
(i) (a) Profit and Loss Suspense Account mark
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S Q. (i) Anuradha Ltd. issued 2,00,000...........cceeuererererecrennene .
Ans. mark
(1) (c) Debited by %20,00,000
OR OR
Q.(ii) Diksha Ltd. issued 4000, 9% Debentures.........cccceeeuaeee
1
Ans. mark
(i1) (c) 320,000
6 Q. Assertion(A): Increase in the value.........ceeeeeeeeerrccnneneececccens
Ans. 1
(c) Both Assertion (A) and Reason (R) are correct and Reason (R) is correct explanation of mark
Assertion (A)
7 Q. On dissolution of a partnership firm.........c..ccccecvrercuercrcurccsnnne
Ans. 1
(b) 280,000 mark
8 Q. Part of uncalled share capital that..........cccceeeverirvercrvercscnnncnns
Ans. 1
(c) Reserve capital mark
9 Q. (i) Ria and Surbhi were partners in a firm...........ccceeecerercnercnanes
Ans. 1
(a) Debiting Surbhi’s account by 30,000 and crediting Ria’s account by mark
30,000
OR OR
Q. (i) Naman, Suman and Mohit were partners
Ans. 1
(b) Naman’s sacrifice 3/16, Suman’s gain 1/16, Mohit’s gain 2/16 mark
10 Q. Sujata Ltd. issued 5000, 7% Debentures.........cccccceereuerercnercsenes
Ans. 1
(c) 22,00,000 and 3,50,000 mark
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11 Q. The goodwill of a firm was valued..........ccoeueerercrucnsecsseecnnnee
Ans. 1
(b) 237,950 mark
12 Q. Chavi Ltd. forfeited 5,000 equity shares.........cccoecerervercrcuernne
Ans. 1
(b) 230,000 mark
Read the following hypothetical situation...........coeevveeesueesneennnen.
13 Q. Amount credited to the Partners’ Current
Ans. 1
(b) Keshav %1,80,000, Krishna X1,12,000 and Murari 280,000 mark
14 Q. Amount of profit transferred to
Ans. 1
(¢) Keshav %1,50,000, Krishna %1,00,000 and Murari 350,000 mark
15 Q. Niva, Naman and Nityam were partners........cceceeseeeceecnnees
Ans. 1
(d) 3:2:4 mark
16 Q. () Anu, Monu and Sonu were Partners.....cc..cceeeseecssseecssssscnns .
Ans. mark
(1) (d)5:2
OR OR
Q. (i) Vidit, Sumit and Mita were partners.........cceeeeercereeseneeee
Ans. !
(i) (b)5:3 mark
17 Q. Rohit and Mohit were partners in a firm.........cccceeveeceeennen
Ans.
Books of Rohit and Mohit
Journal
Date Particulars L.F | Dr. Amount | Cr. Amount
< .
Rohit’s Capital A/c Dr. 9,000
Mohit’s Capital A/c Dr. 6,000
To Goodwill A/c 15,000 1
(Goodwill appearing in books written off
in old ratio 3:2)
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Cash/Bank A/c Dr. 45,000
To Rahul’s Capital A/c 40,000
To Premium for Goodwill A/c 5,000 1
(Capital & part of premium for Goodwill
brought by Rahul)
Premium for Goodwill A/c Dr. 5,000
Rahul’s Current A/c Dr. 5,000 1
To Rohit’s Capital A/c 6,000
To Mohit’s Capital A/c 4,000
(Premium for goodwill adjusted between
sacrificing Partners in sacrificing ratio 3:2)
=3
marks
18 Q.(a) Monika, Bhoomika and Kamolika are partners..........cccceeueee.
Ans.
Dr. Profit & Loss Appropriation A/c Cr.
for the year ended 31°' March 2022
Particulars Amount Particulars Amount
4 4
To Profit transferred to Partners’ By P& L A/c | 22,00,000
Capital A/c: (Net Profit) (1/2) 4«
Monika 12,00,000
Less: Guarantee to Kamolika
60,000 11,40,000 |—>(1/2)
Bhoomika 8,00,000
Less: Guarantee to Kamolika
40,000 7,60,000 —>(1/2)
Kamolika 2,00,000
Add: Guarantee from Monika
60,000
Add: Guarantee from Bhoomika 3
40,000 3,00,000 —>»(1%) marks
22,00,000 22,00,000
OR OR
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Q.(b) Ananya, Bhavi and Chandni were partners.................

Ans.
Books of Ananya, Bhavi and Chandni
Journal
Date Particulars L.F | Dr. Amount | Cr. Amount
< <
2022 Bhavi’s Capital A/c Dr. 11,000
March 31 To Ananya’s Capital A/c 3,000
To Chandani’s Capital A/c 8,000
(Adjustment entry passed for
omission of salary to partners)
Table Showing Adjustments
Particulars Ananya(®) | Bhavi(®) | Chandni(®) | Firm(3)
Salary to be credited 18,000 4,000 18,000 40,000
%40,000 to be debited in 3:3:2 15,000 15,000 10,000 40,000
Difference 3,000 11,000 8,000 -
Cr. Dr. Cr. -

Note: Full credit to be given to the examinees if the working has been done in some other

format or through P & L Adjustment A/c.

1+2=3
marks

19

Q. (a) On 1** April, 2021, Hitesh Itd. took over

oooooooooooooooooooooooo

ooooooo

Ans.
Books of Hitesh Ltd.
Journal
Date Particulars L.F | Dr. Amount | Cr. Amount
4 4
2021 Sundry Assets A/c Dr. 8,00,000
April 1 | Goodwill A/c Dr. 70,000
To Sundry Liabilities A/c 40,000
To Pranjal Ltd. 8,30,000
(Assets acquired and Liabilities taken over,
from Pranjal Ltd.)
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2021 Pranjal Ltd. Dr. 2,00,000
April 1 To Bills Payable A/c 2,00,000
(Bills Payable accepted for part payment of
purchase consideration)
2021 Pranjal Ltd. Dr. 6,30,000
April 1 | Discount on issue of debentures A/c Dr. 70,000
To 10% Debentures A/c 7,00,000
(Balance amount of purchase consideration
settled through issue of 7,000, 10%
debentures at a discount of 10%)
Working note:
No. of debentures issued= 6,30,000/90 = 7,000 debentures
OR
Q. (b) Disha Ltd. forfeited 500 shares of.........ccccceeevueriecrcnnnee
Ans.
Books of Disha Ltd.
Journal
Date Particulars LF Dr. Amount Cr. Amount
4 4
(1) Share Capital A/c Dr. 45,000
Securities Premium /
Securities Premium Reserve A/c Dr. 5,000
To Share Forfeiture A/c 25,000
To Calls in arrears A/c 25,000
(500 shares forfeited for non payment of
allotment and 1% call)
Alternatively,
Share Capital A/c Dr. 45,000
Securities Premium /
Securities Premium Reserve A/c  Dr. 5,000
To Share Forfeiture A/c 25,000
To Share Allotment A/c 15,000
To Share First call A/c 10,000
(500 shares forfeited for non payment of
allotment and 1% call)

1x3

marks

OR
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(i1) Bank A/c Dr. 24,000
Share Forfeiture A/c Dr. 6,000
To Share capital A/c 30,000
(300 shares reissued @ X80, fully paid
up)
(ii1) Share Forfeiture A/c Dr. 9,000
To Capital Reserve A/c 9,000 1x3
( Gain on reissue of 300 shares =
transferred to capital reserve) marks
20 Q. A, B and C were partners in a firm............ceeevverivenseenne
Ans. Books of A, B and C
Journal
Date Particulars L.F | Dr. Amount | Cr. Amount
4 4
(1)(a)
Interest on capital A/c Dr. 72,000
To C’s Capital A/c 72,000
(Interest on capital provided to C @ 9%
p.a.)
(H(b)
Profit & Loss Appropriation A/c  Dr. 72,000
To Interest on capital A/c 72,000
(Interest on capital transferred to Profit
& Loss Appropriation Account)
(ii)(a)
Interest on A’s Loan A/c Dr. 3,500
To A’s Loan A/c 3,500
(Interest on Loan provided to A @ 10%
p.a.)
(i1)(b)
Profit & Loss A/c Dr. 3,500
To Interest on A’s Loan A/c 3,500
(Interest on Loan transferred to Profit &
Loss Account)
(ii)(a)
B’s Drawings A/c / B’s Capital Dr. 1,200
To Interest on B’s Drawings A/c 1,200
(Interest on drawings charged from B @
12% p.a.)
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(1i1)(b)
Interest on B’s Drawings A/c Dr. 1,200

To Profit & Loss Appropriation A/c 1,200
(Interest on Drawings transferred to %X 6
Profit & Loss Appropriation Account) m:rks
21 Q. Prakash, Aakash and Vikas were partners
Ans.
Books of Prakash, Aakash and Vikas
Dr. Vikas’s Capital A/c Cr.
Particulars Amount Particulars Amount
4 4
To Drawings A/c 20,000 | By Balance b/d 80,000
To Vikas’s Executors A/c 1,50,800 | By General Reserve A/c 20,000
By Prakash’s Capital A/c (G/W) 30,000
By Aakash’s Capital A/c (G/W) 30,000
By Interest on Capital A/c 4,800
By P& L Suspense A/c 6,000
1,70,800 170800 | | 7X8
Working Note: m;rks
1. Calculation of Goodwill:
Average profits=4,00,000/4= 1,00,000
Firm’s Goodwill= 3x1,00,000= 3,00,000
Vikas share of Goodwill= 3,00,000/5= 260,000
2. Calculation of Profit:
Vikas share of Profit= 60,000 X 6/12 X 1/5 =%6,000
Note: No marks for working notes.
22 Q. Sunstar Ltd. has an authorised capital of..........c..ccceecureevuerennnes
Ans.
Balance Sheet of Sunstar Itd. (An Extract)
as at -----
Particulars Note | Amount (%)
no.
Equity and Liabilities
Shareholders’ Funds 1
Share Capital 1 5,74,000
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Notes to Accounts :-

Particulars Amount (%)

1. Share Capital :

Authorised Capital

2,00,000 shares @ ¥ 10 each 20,00,000

Issued capital

60,000 Equity share @ ¥ 10 each 6,00,000

Subscribed Capital

Subscribed and fully paid up

56,000 Shares of ¥ 10 each 5,60,000

Add: Share Forfeiture A/c 14,000
5,74,000

Y

Y

marks

23

Q. Pass necessary journal entries for issue

Ans.

Books of Ghanshyam Ltd.

Journal

Date

Particulars

L.F

Dr. Amount
4

Cr. Amount
t4

()a

Bank A/c Dr.
To Debenture Application and Allotment A/c

(Receipt of application money on 1000, 12%

debentures of *100 each at a premium of 10%)

()b
Debentures Application and allotment A/c  Dr.
Loss on issue of debentures A/c Dr.

To 12% Debentures A/c

To Securities Premium /

Securities Premium Reserve A/c

To Premium on redemption of Debentures A/c
(Transfer of debenture application money to
debentures, Securities premium and provision for
premium on redemption of debentures made)

1,10,000

1,10,000
5,000

1,10,000

1,00,000
10,000

5,000
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(id)a

Bank A/c Dr.
To Debenture Application and Allotment A/c

(Receipt of application money on 5000, 12%

debentures of 100 each at a premium of 10%)

(ii)b
Debentures Application and allotment A/c  Dr.
To 12% Debentures A/c
To Securities Premium /
Securities Premium Reserve A/c
(Transfer of debenture application money to
debentures A/c and securities premium A/c)

(iii)a

Bank A/c Dr.
To Debenture Application and Allotment A/c

(Receipt of application money on 2000, 12%

debentures of X100 each at a discount of 5%)

(iii)b
Debentures Application and Allotment A/c  Dr.
Loss on issue of debentures A/c Dr.

To 12% Debentures A/c

To Premium on redemption of Debentures A/c
(Transfer of debenture application money and
provision for premium on redemption of
debentures made)

Alternatively,

Debentures Application and allotment A/c  Dr.
Discount on issue of debentures A/c Dr.
Loss on issue of debentures A/c Dr.

To 12% Debentures A/c

To Premium on redemption of Debentures A/c
(Transfer of debenture application money and
provision for premium on redemption of
debentures made)

5,50,000

5,50,000

1,80,000

1,80,000
30,000

1,80,000
20,000
10,000

5,50,000

5,00,000
50,000

1,80,000

2,00,000
10,000

2,00,000
10,000

1x6

marks
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24

Q. Pass the necessary journal entries for........ccoceeeveeesuecsseecsuersnennne

Ans.
Books of Varun and Vivek
Journal
Date Particulars L.F | Dr. Amount | Cr. Amount
4 4
(i)Realisation A/c Dr. 18,500
To Varun’s Capital A/c 18,500
(Payment of creditors by Varun)
(ii)Realisation A/c Dr. 70,000
To Vivek’s Capital A/c 70,000
(Wife’s loan taken over by Vivek)
(ii1)Cash/Bank A/c Dr. 1,60,000
To Realisation A/c 1,60,000
(Realisation of unrecorded investments)
(iv)Varun’s Capital A/c Dr. 90,000
To Realisation A/c 90,000
(Stock taken over by Varun at 10%
discount)
(v)Cash/Bank A/c Dr. 1,400
To Realisation A/c 1,400
(Bad Debts recovered)
(vi)Realisation A/c Dr. 4,900
To Vivek’s Capital A/c 4,900
(Expenses of realisation paid by Vivek) 1_X6
Marks
25 Q.(a) Bhumi and Chavi were partners in a firm........ccccccceevueeenns
Ans.
Dr. Revaluation A/c Cr.
Particulars Amount | Particulars Amount
) ()
To Profit transferred to Partners’ By Machinery A/c Z 80,000
Capital Accounts : Vs
Bhumi 50,000 !
Chavi 30,000 80,000
80,000 80,000
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Dr. Partners’ Capital A/c Cr.
Particulars Bhumi Chavi Aditi Particulars Bhumi Chavi Aditi
(4 (4 i i i (4
By Balance b/d 3,20,000 | 3,40,000
i
By Cash A/c 4 3,00,000
By Revaluation
Alc (Profit) 50,000 30,000
By General
Reserve A/c 50,000 30,000 5
By Premium for
To Balance c/d | 4,45,000 | 4,15,000 | 3,00,000 | o 0oy 25,000 | 15,000
4,45,000 | 4,15,000 | 3,00,000 4,45,000 | 4,15,000 | 3,00,000
0 Current A/c 70,000 | 1,90,000 --- By Balance b/d 4,45,000 | 4,15,000 | 3,00,000
1
To Balance ¢/d | 3,75,000 | 2,25,000 | 3,00,000
i
445,000 | 4,15,000 | 3,00,000 4,45,000 | 4,15,000 | 3,00,000
1+5=6
Working note: marks
Calculation of New Capitals:
Capital of New Firm based on Aditi’s capital = 3,00,000 X 3= 9,00,000
New ratio 5:3:4
New Capitals in 5:3:4 :-
e Bhumi=5/12 X 9,00,000= Z3,75,000
e Chhavi=3/12 X 9,00,000= &2,25,000
e Aditi=4/12 X 9,00,000= Z3,00,000
Note: No marks for working notes.
OR OR
Q.(b) Anna, Bina and teena were partners
Ans.
Dr. Revaluation A/c Cr.
Particulars Amount Particulars Amount
() )
To Furniture A/c Vs 10,000 | By Loss transferred to Partners’
Capital Accounts : iz
Anna 5,000 1
Bina 3,000
Teena 2.000 10,000
10,000 10,000
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Dr. Partners’ Capital A/c Cr.
Particulars Anna Bina Teena Particulars Anna Bina Teena
i i g i i g
To Revaluation By Balance b/d 2,00,000 | 2,00,000 | 1,00,000
Alc (Loss) 5,000 3,000 2,000 | [
To Anna’s By Bina’s
Capital A/c |4 12,000 18,000 | Capital A/c 12,000
To Balance /d | 2,25.000 | 1,85,000 | 80,000 | By Teena’s
Capital A/c 18,000 5
2,30,000 | 2,00,000 | 1,00,000 2,30,000 | 2,00,000 | 1,00,000
To Cash A/c/ By Balance b/d 2,25,000 | 1,85,000 80,000
Bank A/c 2,25,000 By Cash A/c/
To Balance c/d - 2,45,000 | 2,45,000 | Bank A/c - 60,000 | 1,65,000
3
225,000 | 2,45,000 | 2,45,000 225,000 | 2,45,000 | 2,45,000
Working note: 145=6
1. Gaining Ratio of Bina and Teena= 2:3 marks
2. Calculation of new capitals of remaining partners:
Adjusted Capital of Bina 1,85,000
+ Adjusted Capital of Teena 80,000
+ Amount payable to Anna 2,25,000
Total Capital of new firm 4.90.,000
New Capital of Bina 2,45,000
New Capital of Teena 2,45,000
Note: No marks for working notes.
26 Q.(a) Yash Ltd. invited applications for.......c.cccceevuercrcueicrcuercsnne
Ans.
Books of Yash Ltd.
Journal
Date Particulars L.F | Dr. Amount | Cr. Amount
7 7
Bank A/c Dr. 3,60,000 )
To Equity Share Application A/c 3,60,000 &
(Application money received on 1,20,000
shares )
Equity Share Application A/c Dr. 3,60,000
To Equity Share Capital A/c 1,50,000 1
To Equity Share Allotment A/c 1,50,000
To Bank A/c 60,000
(Application money transferred to share
capital A/c, to share allotment A/c and
refunded)
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Equity Share Allotment A/c Dr.
To Equity Share Capital A/c
To Securities Premium /
Securities Premium Reserve A/c

( Amount due on allotment)

Bank A/c Dr.
To Equity Share allotment A/c

Equity Share First and final call A/c  Dr.
To Equity Share Capital A/c
(Amount due on First call)

Bank A/c Dr.

Calls in arrears A/c Dr.
To Equity Share First call A/c

(First call money received , except on 2500

shares )

Equity Share Capital Dr.
To Share forfeiture A/c
To Calls in arrears A/c
(2500 shares forfeited for non payment of
first and final call)

Alternatively,
Equity Share Capital Dr.
To Equity Share forfeiture A/c
To Equity Share First and Final Call A/c
(2500 shares forfeited for non payment of
first and final call)

Bank A/c Dr.
To Equity Share Capital A/c
To Securities Premium /Securities
Premium Reserve A/c

(Forfeited shares reissued for 260,000, fully

paid up)

Share forfeiture A/c Dr.
To Capital reserve A/c

(Gain on reissue of forfeited shares

transferred to capital reserve A/c)

1,50,000

Nil

2,50,000

2,37,500
12,500

25,000

25,000

60,000

12,500

1,00,000
50,000

Nil

2,50,000

2,50,000

12,500
12,500

12,500
12,500

25,000
35,000

12,500

No
marks

Y

Y

Y

=6
marks
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Q.(b) Ajanta ltd. issued prospectus inviting

Ans.

OR

Books of Ajanta Ltd.

Journal

ooooooooooooooooooooooooooooooooooooooooo

Date

Particulars

LF

Dr. Amount
4

Cr. Amount
4

Bank A/c Dr.

To Equity Share Application A/c
(Application money received on 6,00,000
shares)

Equity Share application A/c Dr.
To Equity Share Capital A/c
To Equity Share Allotment A/c
(Application money transferred to share
capital A/c, excess money received
adjusted towards allotment )

Equity Share Allotment A/c Dr.
To Equity Share Capital
To Securities Premium /
Securities Premium Reserve A/c

( Amount due on allotment)

Bank A/c Dr.
Calls in arrears A/c Dr.
To Equity Share Allotment A/c

( Allotment money received, except on
1000 shares)

Equity Share First and Final call A/c Dr.
To Equity share Capital A/c
( Amount due on First and final call)

Bank A/c Dr.

Calls in arrears A/c Dr.
To Equity Share First call A/c

(First call money received, except on 1000

shares )

Equity share capital Dr.
Securities Premium /
Securities Premium Reserve A/c Dr.
To Share Forfeiture A/c
To Calls in Arrears A/c
( 1000 shares forfeited for non-payment of
allotment and first call)

18,00,000

18,00,000

25,00,000

21,95,600
4,400

15,00,000

14,97,000
3,000

10,000

1,000

18,00,000

15,00,000
3,00,000

20,00,000
5,00,000

22,00,000

15,00,000

15,00,000

3,600
7,400

OR

3

Y

=6
marks
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PART-B
OPTION-I
(ANALYSIS OF FINANCIAL STATEMENTYS)
27 Q.(i) If revenue from operations iS......cccceceeeseerescnnrcscnercssnnecsenes
Ans.
Cost of revenue from operations= ¥ 8,00,000 1
mark
Note: As there is no option in MCQ for the answer ¥ 8,00,000, therefore, 1 mark is to be
awarded to the examinees, who attempted the question.
OR OR
Q.(ii) If the operating ratio of Aman Ltd.........ccccceeuvreueeruennnes
Ans. 1
(c) 40% mark
28 Q. While preparing Cash Flow Statement...........ccccceerueerueeenee
Ans. 1
(b) Operating Activity mark
29 Q. (i) Which of the following will result
Ans. 1
(c) 30,000 received from debtors mark
OR OR
Q. (i))An investment normally qualifies as .......ccceeceeevvvrerccercrcnnnenne
Ans. 1
(d) Three months or less mark
30 Q. Which of the following is Not a........cccceeeeverercercrsneccscerccsnnnes
Ans. 1
(a) Return on Investment mark
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31

Q. Classify the following items under major.........cccceeercuercrnnnes

Ans.
S.No. Items Heads Sub Heads
1 Patents Non Current Assets Fixed Assets—Intangible
Alternatively,
Property, Plant & Equipment &
Intangible Assets
2 Capital work-in- Non Current Assets Fixed Assets
progress
3 Unpaid dividend Current Liabilities Other Current Liabilities
Y2 X6
=3
Note: Full credit to be given to the examinees for writing only Fixed Assets or Intangible marks
Assets under the sub head of part 1.
32 Q. ‘These ratios are calculated for measuring........c..ccceecueeerunecene
Ans.
a) Turnover Ratios or Activity Ratios 1
b) Any two of the following:
1. Inventory Turnover ratio
e It expresses the relationship between the cost of revenue from operations and average | (/2
inventory. }Z:rk
e Inventory Turnover Ratio = Cost of Revenue from Operations / Average Inventory naming
and
2. Trade Receivables Turnover ratio 12
e [t expresses the relationship between credit revenue from operations and trade }?:rk
receivable. explan
e Trade Receivable Turnover ratio = Net Credit Revenue from Operations/Average ation)
Trade Receivable
1x2=2

3. Trade Payables Turnover ratio

e It expresses relationship between credit purchases and trade payables.
e Trade Payables Turnover ratio = Net Credit purchases/ Average trade payable

4. Net assets or Capital employed Turnover Ratio

o It reflects relationship between revenue from operations and net assets (capital
employed) in the business.

e Net Assets or Capital Employed Turnover ratio
=Revenue from Operations/ Capital Employed
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5. Fixed assets Turnover Ratio

o It reflects relationship between revenue from operations and net fixed assets.

o Fixed asset turnover Ratio =Net Revenue from Operation / Net Fixed Assets

6. Working Capital Turnover Ratio

It reflects relationship between revenue from operations and working capital.

Working Capital Turnover Ratio =Net Revenue from Operation /Working Capital

Note: If the examinee has given the meaning in any other way, full credit is to be given.

1+2=3
marks

33

Q. (i)(a) Y Ltd. has a Current Ratio of 3.5:1.....cccccecerecrcrunreceee

Ans.

Current Ratio= Current Assets/ Current Liabilities
Current Ratio= 3.5:1
Current Assets/ Current Liabilities= 3.5:1

Current Assets(CA)= 3.5 Current Liabilities(CL)ceeuresseressresnrcsseesanns

Quick Ratio= Quick Assets/ Current Liabilities
Quick Ratio = 2:1
Quick Assets/ Current Liabilities= 2:1

Quick Assets(QA) = 2 Current LiabilitieS(CL).ucerressurssnesssarcsanesnnenns

Inventory= CA- QA
48,000=3.5 CL-2 CL
48,000=1.5 CL

Current Liabilities (CL)= 32000 .......cccoovverecrcvrnnrecsssrnreccscnanes

Current Assets(CA)=3.5x 32000=%1,12,000

---------

Q. ()(b)Calculate Debt to Equity Ratio........cccceeverercuercrcunrennnns

Ans.

Debt Equity Ratio= Debt/ EQUity........cccccvervieriinennienieneeienee

-----------

Debt= Total Debt- Current Liabilities= 4,00,000-1,00,000= 3,00,000 ....... Z

Equity= Shareholder’s funds= 2,00,000 ............cccererverrenennnenn

Debt Equity Ratio= 3,00,000/ 2,00,000= 1.5:1..........ccc0eeveueeeee

................... %,

-

.

2 marks

2 marks

2+2=4
marks
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OR OR
Q. (ii)The Current ratio of a COMPANY......ccovverersrerersrrcssercsssercssssecssssscsasses y
Ans. mark
S. No. | Effect on Ratio Reason for
effect
. . eqe . &
a No change No change in both current assets and current liabilities. 1
b Decline Current assets decrease with no change in current liabilities. mark
C Improve Current assets increase with no change in current liabilities for
d Improve Current assets increase with no change in current liabilities ;::Son
=4
marks
34 Q. Read the following hypothetical text
Madhav is a2 young entrePreneUr ........cceeccrsseecsssrecsssnessssscsssssossssssanes
Ans.
Cash flows from Investing activities
Particulars Details Amount
4 7
Sale of machinery 2 45,000
Purchase of machinery (20,25,000) 2
Cash used in investing activities (19,80,000)
Cash flows from Financing activities
Particulars Details Amount
4 .
Issue of shares 10,00,000
10% Debentures issued 9,00,000
Interest on debentures paid (1,25,000)
2%
Payment of Bank Overdraft (25,000)
Cash flows from Financing activities 17,50,000
Working notes:
Dr. Plant & Machinery A/c Cr.
Particulars 4 Particulars e
To Balance b/d 25,00,000 | By Accumulated
To Bank A/c 20,25,000 | Depreciation A/c 50,000 1%
(Purchase-Bal.Fig) By Bank A/c 45,000
By Statement of P & L 30,000
(Loss on sale A/c)
By Balance c¢/d 44,00,000
45,25,000 45,25,000
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Dr. Accumulated Depreciation A/c Cr.

Particulars 4 Particulars 4
To Machinery A/c 50,000 | By Balance b/d 2,50,000
To Balance c/d 4,00,000 | By Depreciation A/c 2,00,000
2+2Y
4,50,000 4,50,000 +17%
=6
marks
PART-B
OPTION-II
(COMPUTERIZED ACCOUNTING)
27 | Q.(i)The need of cOdifiCation.........ceeevrvrurereersrseersusssnsnsnsnsnsnseses
Ans. (i) (b) The encryption of data 1
mark
OR
Q.(ii)Where are the amounts owed by customers 1
Ans. (ii) (c) Accounts Receivable Subsidiary Ledger mark
28 | Q. Pie Charts do not have more than
Ans. (d) Seven 1
mark
29 | Q.Which of the following statement is NOt...........eeereererereenens
Ans. (a) Data is not made available to everyone 1
mark
30 | Q.(i) To safeguard assets and optimise the.........ccererereerererererenne
Ans. (i) (b) Keeps internal controls !
mark
OR OR
Q.(ii)Correct # # # # # error appears
Ans. (ii) (c) When column is not wide enough 1
mark
31 | Q. What is meant by ‘Memo Voucher’,.........ccceeeeeeeueeereerssenesesesene
Ans.

Memo Voucher:
It is a non-accounting voucher. It does not affect accounts of the user.

The entries contained in these vouchers are recorded/stated in a separate register, but not as a
part of ledger.

Page 22 of 24




Post-dated Voucher:
Some software allows the users to enter the voucher for future transactions which are
usually similar as the previous once.
User defined Voucher :
In accounting software there are 23 pre-defined vouchers. It allows the user to define or create
new accounting or inventory vouchers as per the requirement. 1x3
marks
32 Q. Differentiate between ‘Generic Software’ and
Ans.
Any three of the following differences:
Basis Generic Tailored
1 Nature of business Small, Large, typical
Conventional business
business
2 Cost of installation and Maintenance | Low High
3 Expected level of secrecy Low Relatively high
4 No. of users and their interface Limited Unlimited 13
5 Linkage to other information system | Restricted Yes =
6 Adaptability High Specific marks
7 Training requirements Low High
33 Q.(2) How can the format of a.........cceceeerereerererereressenesereenns
Ans.
To change the format of a selected chart element following steps to be taken:
(1) Click anywhere in the chart. This will display the chart tools adding the
Design, Layout, and Format tabs.
(2) On the Format tab, in the current selection group click the arrow next to
the Chart Elements box, and then select the chart element which requires
to format.
3) On the Format tab, in the current selection group click the Format
Selection.
4) On the Format <Chart Element> dialog box, click a category, and then
select the formatting s. You can change
. Shape style 1x4
. Shape outline =
. Text fill marks
. Text outline, etc.
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OR

Q.(b) List any eight uses of
Ans.
Use of accounting software (Any Eight)

(1) Do all basic accounting functions

(2) Manage stores

3) Does job costing

4) Manage payroll

(5) Get many MIS reports which are useful for day to day functions.
(6) Fill tax returns; prepare balance sheet, profit and loss statement etc.
(7) Maintain budgets

(8) Calculate interest on pending amount

9) Manage data over different locations and synchronize it.

OR

x8

marks

34 | Q. Name and explain the financial function..........ceceeeeeeueveerereanes
Ans.

The name of the function is CUMIPMT.

This function returns the cumulative interest paid between two periods.
It syntax is

CUMPIMT (rate, nper, pv, start_period, end period, type)

Where

Rate : is the interest rate

Nper : is the total number of payment periods.

Pv : is the present value.

Start Period —is the first period in the calculation. Payment periods are
numbered beginning with 1.

End Period — is the last period in the calculation.

Type — is the timing of the payment (which may be either 0 or 1)
0-means payment at the end of the period.

I-means payment at the beginning of the period.

1+5=6
marks
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